
SPARE  PARTS EXPLODED VIEW
UNVENTED CYLINDERS
Models
ST 50
ST 75
ST 100
Edition 1 
Current from Serial No:-

ST50	 	 970000000890307 to -------------------------
ST75	 	 970000000890308 to -------------------------
ST100		 970000000890309 to -------------------------



4

7

2

3

1

5

6

8

11

9

10

12 13 1514 16

 

MODEL CODE FROM SERIAL NO. REF.

ST 50 UK 890307 970000000890307 A

ST 75 UK 890308 970000000890308 B

ST 100 UK 890309 970000000890309 C



PART CODE DESCRIPTION REF. NOTE
 1 969009 Temperature + pressure relief valve 7 bar
 2 324002 Gasket 24.5 x 15 x 4.5 mm
 3 318080 Union T + P valve 3/42 B.S.P.
 4 924001 Element gasket (5 stud) 
 5 919047 Anode D21.3 x 290 x M8
 6 918001 Bolt M8 x 25
 6 918064 Bolt M8 x 20
 7 816523 Element 3 kW 240V (5 stud) + anode 290 mm
 8 469062 Hexagonal nut M8
 9 935049 Thermostat assembly (ST) 
 10 921024 Safety thermostat (RANCO)
 11 918017 Bolt M4 x 10
 12 570109 Thermostat Support (boss D.75)
 13 570029 Regulation cap
 14 921023 Regulation thermostat
 15 935174 Cable kit 
 16 926205 Inspection cover


